. Who was the President of India in 2025?

(A) Ram Nath Kovind
(C) M. Venkaiah Naidu

(B) Draupadi Murmu
(D) Narendra Modi

. Who is the Prime Minister of India in 2025?

(A) Narendra Modi (B) Rahul Gandhi

(C) Amit Shah (D) Arvind Kejriwal
. Inwhich state is India’s Largest solar park

located?

(A) Gujarat (B) Rajasthan

(C) Madhya Pradesh (D) Tamil Nadu

. Which is the first Spanish speaking country to

recognise India’s pharma standards?

(A) Spain (B) Mexico
(C) Nicaragua (D) Argentina

. Which country is hosting the G20 summit in
2025?
(A) India (B) South Africa
(C) Italy (D) Japan

. Which Indian state has the highest GDP in
2025?
(A) Maharashtra (B) Uttar Pradesh
(C) Tamil Nadu (D) Gujarat

. Inwhich year was the Kalinga war fought?
(A) 540 BC (B)320 BC
(C) 440 BC (D) 261 BC

. Inwhich year did the Russian Revolution take
place?
(A) 1918 (B) 1819
(C) 1917 (D) 1913

. The shape of the earth is spherical. It can be

divided into two parts by a line; name that line.
(A) Divider (B) Dividing line
(C) Latitude (D) Equator

10. The award winning film “Slumdog Millionare”

is directed by which of the following directors?
(A) Danny Boyle (B) Ram Gopal Varma
(C) S.S Rajamouli (D) VRazwan

11. Cobbler: Leather:: Tailor:?

(A) Bajaj
(C) Thread

(B) Shirt
(D) Cloth

12. At 6:15 p.m., What will be the acute angle

between the hour and minute hands of a clock?
(A) 45 degrees (B) 90 degrees
(C)97.5 degrees (D) 105 degrees

1. 2025 § 9~d @ wcufd B §?

10.

1.

12.

(A) w91 1 Bifde (B) St 99
(C) T9. 9oa IS, (D)ﬁaﬁé’r
. 2025 ¥ YRd & UHTEHA! D9 &7
(A) Tz =y (B) gt i
(C) st wmme (D) srfie Bordrard
. MRd B 999 91 QieR U frd wsa |
Rerg 27
(A) o (B) <rorem=
(C)kuém (D) aftrerrg

. IRd ® Bl A9d] B 9r=gal <9 9rell

Tgell | 9y 291 B9 a1 27
(A) = (B) wferast
(C) frorsn (D) st

. 2025 ¥ G20 f3rER 99 & Ao B

|1 2T PN @ TP

(A) w=d (B) =féror srwres
(C) seett (D) wimam=

. 2025 § W9 SUIE1 GDP 916l A qog
BT Wl R?
(A) 7R (B) SR u=¥1
(C) affrerrg (D) 7o

. Wi @1 gg fra ad @1 W™ oan?
(A) 540 s‘w d (B) 320 st
(C) 440 Sw 4d (D) 261 $&1 d

. &t wifa fra ad gg H?
(A) 1918 (B) 1819
(C) 1917 (D) 1913

qedl P ATHR MATHR A1 Bl TH T Y@l
g1 < 9 9w fean < 9ot ®
9 X9l B M 9491301
(A) fearssy

(C) 3&ren

PR fauar fecw "wwer fiferaaar
4 9 f5u fidee g™ FERE

(B) favrea ¥
(D) ¥Fed @i

@ g ¥

(A) S0 STad (B) X Mt 941
(C) T9.T9. IoiHrett (D) &Y. I
A : TAST 1 qoil:?

(A) g9 (B) IS

(C) grm (D) ®usI

M 6:15 991, TSI B 6 3R fse &
gsal @ € <A T 70 BM?
(A) 45 f&N (B) 90 f&h
(C)97.5 f&i (D) 105 f&3h
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13. Introducing a woman, Rohan said, “ She is the
mother of the only daughter of my son.” How
is the woman related to Rohan?

(A) Sister (B) Sister-in-law
(C) Wife (D) Daughter-in-law

14. Pointing to a girl, Abhishek said, :She is
daughter of the only child of my father”. How is
Abhishek’s wife related to that girl?
(A) Daughter (B) Mother
(C) Aunt (D) Sister

15. Anil, introducing a girl at a party, said, she is
the wife of the 12, grandson of my mother. How
is Anil related to the girl?

(A) Father (B) Grandfather
(C) Husband (D) Father-in-Law

16. Pointing to a man in the park, Naman said, ...
His son is my son’s uncle. How is the man
related to Naman?

(A) Brother (B) Father
(C)Uncle (D) Grandfather

17. Looking at a portrait of a man, Harsh said,
“His mother is the wife of my father’s son.
Brothers and sisters, I have none. “ At whose
portrait was Harsh looking?

(A) His son (B) His cousin
(C)His Uncle (D) His Nephew

18. A party consisted of a man, his wife, his three
sons and their wives and three children in each
son’s family. How many were there at the
party?

(A)24 (B) 22
©) 13 (D) 17

19. Which Hindi writer is known by the name of
Nirala?
(A) Suryakant Tripathi
(B) Jaishankar Prasad
(C) Sumitranandan Pant
(D) Hazari Prasad Dwivedi

20. Who wrote the famous book “We, The
People”?
(A) Khushwant Singh
(B) Justice P.N. Bhagawati
(C) Justice V.R. Krishna Iyer
(D) Nani Palkhivala

13.

14.

15.

16.

17.

18.

19.

20

Fhall A1 B A T 98 wiken
A A 59 YR Hafta 72
(A) 9 (B) ¥
(C) o=t (D)sg

%’lmﬁﬁmu&ﬁm&mﬁﬁﬁmm
Wi ?

(A)9& (B) w1

(C) Al (D) 984

I A T Uit d T =@ a1 uREd 29
TQ Fa, 98 AN A B 12§ W B Tl ¥
I b1 99 dsH A a1 Rear B?

(A) fom (B)gr=t

(C) ufa (D) R

Ta | TH A B AR TR W g
T | el SHPI 41 W A BT Gl gI”
Ig e T 9§ 59 yoR wafta ®°?
(A) 91g (B) et

(C) =m=n (D) =Ta1

TH e @ R o 3@d g o A
Fel,"SHD |1 R U @ )@ H g '
AS—aed, W1 B3 T8 TI” T frwa
TR B 3@ & A7

(A) SHHT Il (B) SHPT AT AT
(C) S[®T =T (D) SH®HT Aol

TP Uil § T ), SHa! U, SHD

d4 92 IR S ufeHaT iR U 9 B
TReIR & 94 ¥=2 e 21 Tt 4§ fea
onr A7

(A)24 (B)22

(C) 13 (D)7

foa <) o 9 RIen’ @ 99 /@ W
ST & °

(A) = Brarét

(B) STITIHR TS

(C) gRA=+ 91
(D) T TS fZa<)

URIE TP “We, The

People” &l ﬁ)‘\'ﬁ fora?

A) gera= Rz
EB)) W . Tl
(C) 913N, U IR

(D) SN UTeTaYaTe
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21.National Consumer Rights Day is observed

in India on:
(A) December 24 (B) September 25
(C) October 25 (D) November 25

22. Election to the lok Sabha have been held so
for:
(A) 17 times
(C) 18 times

(B) 16 times
(D) 15 times

23. 1 Kilogram=
(A) 1000 milligrams
(C) 10 centigrams

(B) 100 milligrams
(D) 1000 grams

24. The approximate intensity of sound which
can cause damage to the eardrum is:
(A)20dB (B) 60dB
(C) 100dB (D) 160dB

25. A man is standing on a weighing machine in a
lift which is moving. The weighing machine
will show minimum reading when the lift is
moving:

(A) upwards with uniform speed

(B) downwards with uniform speed
(C) upwards with uniform acceleration
(D) in a free fall due to the failure of lift
mechanism

26. A slow running pendulum clock can be
speeded up by:
(A) increasing the length of the rod
(B) increasing the weight of the bob
(C) reducing the length of the bob
(D) reducing the weight of the bob

27. Which of the following countries tops in arms

sale?
(A) Russia (B) China
(C)USA (D) Israel

28. Where is the headquarters of NATO
located?

(A) Amsterdam (B) Brussels

(C) Paris (D) New York
29. Which one of the following prohibits

remarriage?

(A) Jatak (B) Manusmriti

(C) Yagyavalkya (D) Arthshastra

30.“Shuddha Advaitvad” was propounded by:
(A) Madhavacharya (B) Shrikanthacharya
(C) Vallabhacharya (D) Ramanuj

21. MRd 4 I Suuid SiftreR feaw @9
T STl B2

(A) 24 o= (B) 25 Ryawax
(C) 25 3raTTR (D) 25 Fa¥R
22.319 9% dead &1 fFafea faan IR @
qP1 T?
(A)17 IR (B) 16 4R
(C) 18 IR (D) 15 9%
23.1 fraum=
(A) 1000 fireiRma (B) 100 fretum
(C) 10 AEm™ (D) 1000 U9

24 =fq B Fpeaw Naar s o4 B 9 B
afd agen Wl ¥, 9% B:
(A) 20dB
(C) 100dB®

25.7% Afdd TP diaq aren 7NN R o
forge & @1 <@ 7, @St B dAem areht
73 a9 90 e h o9 fawe =«
@ T
(A) SUR DI 3R A I A
(B) - &1 3R HHH 7If
(C) HUR B! 3R FATH @O |
(D) forde 79T @RI 8 oM & BRUT afg

Wy o9 9 AR@ 2

26. To 9F T 3§ dge TS @ W
TS W |l B
(A) BS & TS IITBY
(B) 9Td &1 IoT IGTH
(C) dfq o o7 aITS TeTHR
(D) 9fq BT HR TCTH

27. AR @ fapa ¥ = 2w 4 A B9
21 9o WM W) &7

(B) 60dB
(D)160dB

(A) w9 (B) 91

(C)g.u4x. (D) ORI
28.9TEl &I Pel Rera 77

(A) (B) s¥iedt

(C) uRa (D) ~gaT®
29. fFr=fafea 4 @ @9 gEidar w1 fefa

B B

(A) T (B) Fgef

(C) arsacad (D) 3rfeme
30."9[% sgaae” B fFas wga fovan en?

(A) Wgarart (B) #Nrdorard

(C) geervrard (D) g
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31. The great Hindu Law-Giver was:
(A) Kapil (B) Banabhatta
(C) Kautilya (D) Manu

32. Jainism was divided into two sects known as:
(A) Kapalika and Kalamukha
(B) Mahayana and Hinayana
(C) Ajivika and Nyaya Vaishesika
(D) Svetambara and Digambara

33. The headquarters of East India Company in
Bengal was located at:
(A) Fort St.David
(B) Fort William
(C) Fort St. George
(D) None of these

34. A collection of dialogues between Kabir and
Dharamdas is titled:
(A) Sabad
(C) Sakhi

(B) Amarmul
(D) Ramaini

35. The secret society of revolutionaries which
was organised by V.D.Savarkar in 1904 was:
(A) Yugantar (B) Ghadar
(C) Sandhya (D) Abhinav Bharat

36.Which one of the following was a
revolutionary who later turned into a yogi
and a philosopher?

(A) Bal Gangadhar Tilak (B)Aurobindo Ghosh
(C) Lala Lajpat rai (D) Agarkar

37. Delhi became the capital of India in:
(A) 1910 (B) 1916
(©) 1911 (D) 1923

38. Which of the following is related to ‘Camel’
in the same way as ‘Sea’ is related to ‘Ship’?
(A) Mammal (B) Horse
(C) Oasis (D) Desert

39. A train is moving at a speed of 132km. p.h. If
the length of the train is 110 metres, how
long it will take to cross a railway platform
165 metres long?
(A) 5 sec.

(C) 10 sec.

(B) 7.5 sec
(D) 15 sec.

40. If HIGH is coded as 8978, then decoded
number 4516 will be:
(A)FEAD
(C)JADE

(B) DEAF
(D) BACH

31 we[ fag, faf—uvian @i <?
(A) Bfde (B) dromee
(C) Pifeca (D)¥g

32. O 9 @ < e ¥ fawfoa fea
T o, e oI o §:
(A) FuTfereT 3R BT E
(B) WERIT 3R E9 ™
(C) 3riifaet 3R <™ J9Ifi®
(D) AR 3IR fevaR

33. 5% 3f3A B &1 §Ma A AT Bl
Rera em?
(A) w1 dc Sfas
(B) wIe fafera™
(C) ®IE e ol
(D) 39 ¥ BIS &

34. IR 3R ERAST @ 9 P Al Bl
e wdfra ®:
(A) |ae (B) 3R
(C) \arE (D) <Hohy

35. 9.3\ Aravsr R 1904 A Wfda B TE
HIGIRGT BT [ FHAS oI
(A) TR (B) TR
(C) \e (D) 319 ¥Ra

36.f=ferRaa d @ B9 e wifadr) o o
e ¥ arf 3R IEiffe a=7?
(A) 91 TFMER foed (B) 3Rfdg 91
(C) AT oI I (D) 3FR&R

37. 9Rd D IoE ool B9 g1 o ?
(A) 1910 (B) 1916
(C) 1911 (D) 1923

38.fF 4 A o9 ‘Sc’ 4 94 & 9eta &
S G T
(A) ZTari (B) st
(C) weeEm= (D) IR

39.T® Yerms! 132 . ufveier @0 YR
A Torl T Afe M DN = 10 Wew
T, @ 165 WX 71 WeHr B TR FE
# frar =g e ?

(A) 5 9Fs (B) 7.5 W®Hs
(O)10 A®Hs (D) 15 ABS
40.9fe HIGH &1 B 8978 ¥, A W& 4516
H1 FHETaE gm:
(A) FEAD (B) DEAF
(C) JADE (D) BACH
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41. Which of the following will come next in the
series below: KUZMOX,01V,QET

(A) SUR (B)SAR
(C) SAQ (D) SDR
42. A car goes 584 Km. in 8 hours, then how long
will it take to go 803 km?
(A) 12 hrs. (B) 11 hrs.
(C) 10 hrs. (D) 9 hrs.

43. If 36 men can do certain piece of work in 25
days, in how many days will 20 men do it?
(A)46 days (B)48 days
(C) 42 days (D)45 days

44. If 15 toys cost Rs.234, what will be cost of 35

toys?
(A)525Rs (B)535 Rs.
(C) 546 Rs. (D) 540 Rs.

45.The population of a town is 18000. It
increases by 10% during the first year and by
20% inthe second year. The population after
two years will be:

(A) 21,000 (B)19,800
(C) 23,760 (D) 21,606
46. The act of unlawfully entering into another’s
property is:
(A) Confinement (B) Restraint
(C) Appropriation (D) Trepass
47. What does ab initio refer to?
(A)Towards the end (B) From the beginning
(C) Initial burden (D) Absolutely

48. In law a man is presumed to be dead if he is
not heard of as alive for:

(A) S years (B) 10 years

(C) 7 years (D) 8 years

49. Which is the highest Criminal Courtin a
District?

(A) Sessions Court

(B) District Court

(C) Chief Judicial Magistrate

(D) District Judge

50. A married man commits adultery, if he has
sexual intercourse with:
(A)ex-wife
(B) minor girl
(C) wife of another man
(D) None of the above

41. fr=fafaa aoff § spra e =

BN ? KUZ,MOX,01V,QET
(A) SUR (B) SAR
(C) SAQ (D) SDR

42.T®% PR 584 fharfiex 8 & & ol B,
@ 98 803 fharder v ¥ fdaq =

af?
(A) 12 B (B) 11 ¢
(C) 10 & (D) 9 I

43.9fe &N B9 o 36 MW 25 =i o
TR Ghd &, 1 20 SN Sq B B B
fraq feai o ?
(A) 46 T
(C) 42 fa=

44 3% 15 Rl @ d9d 234 w. &, a1 35
Raar & A a1 am?
(A) 525 . (B) 535 .
(C) 546 . (D) 540 .

45.T% TR & IEE) 18,000 Tl Ugal a9 |
10% JAMESY 98 ol & IR @R a4 20%
:gﬂwrﬁ%lﬁadamﬁmﬁmﬁ

?

(B) 48 f&=1
(D) 45 feA

(A) 21,000 (B) 19,800
(C) 23,760 (D) 21,606
46 .frd) 9 w1 = faftfeeg waw o
Cap %:
(A) TRRg (B) 3m@R1g
(C) faferam (D) 3R
47 1q AR &1 = aad 2?
(A) 31 &I 3R (B) 3R™ |
(C) URf®H AR (D) 3raf~<ad w9 |

48 fafr & sr=ia foell =afdm o 5@ w= forn
W ¥ A S9 oifaa WS g W R
(A)5 T4 9 (B) 10 99
(C)7ad 4 (D)s a4 |

49.7% oot # walwa NIt ~arTe
DT 87
INKER IIG D]
(B) foren =amarerd
(C) = AR SUSTRDT
(D) foren =amansren

50.7% faarfea g@u 9RaH &van 7, IfT 98
AYq FIT B
(A) 9d Tl & I
(B) 3MAURD ASH! B AT
(C) frt o= ge &l Tl & Wi
(D) SRRIT ¥ A $Ig 7Tl

c
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51. Sometimes a person himself does not commit
an offence. He helps or aids another person.

He is then guilty of:
(A) abetment (B) conspiracy
(C) attempt (D) preparation

52. A husband is obliged to maintain his divorced
wife:
(A) throughout her life
(B) 25 years
(C) 10 years
(D) till she gets remarried

53. A borrows money from B and gives some land
as security for payment of the debt. The
arrangement is called:
(A) Pledge
(C) hire-purchase

(B) hypothecation
(D) mortgage

54. Alaw made by an Act of Parliament is called:

(A) Rule (B) Act

(C) Notification (D) Statute
55. The Oldest High Courtin India is in:

(A) Delhi (B) Mumbai

(C) Allahabad (D) Kolkata

56. Dower (Mehar) is dealt in:
(A) Hindu Law (B) Muslim Law
(C) Christian Law (D)Parsi Law

57. A constitutional bench of the Supreme Court
consists of at least:
(A) 3 Judges
(C) 6 Judges

(B) 5 Judges
(D) 7 Judges

58. Which High Court has the highest number of
benches in India?
(A) Allahabad High Court
(B) Punjab and Haryana High Court
(C) Mumbai High Court
(D) Guwahati High Court

59.Legal Education in India is governed by:
(A) Supreme Court
(B) Bar Council of India
(C) Bar Federation of India
(D) Ministry of Law and Justice

60. Fiduciary relationship is based on:
(A) contract
(B) trust
(C) blood relationship
(D) money

51. dM-aW te Aafea @I U1y T Bl
9 TR iR B AL U1 WEHdl HRal B
I8 99 9 T

(A)@'@ww'

(B) y58A Bl
(C) g &l (D) TR BT
52U URI TN TATHILET TN B HRUI—II0T
¥ 9
(A) SHD Sia-TdhTe
(B) 25 94 A&
(C) 10 a9 T®F
(D) 14 9% 98 YAfdarg & & el

53. A B $UA B A SUR AT § 9N EU D
WA ¥g 7o 9fy wRefy B w9 § v B

39 avRA B bEl Wrdl ¥
(A)RREY (B) gftcags®
(C) WTS1-3hd (D) %1%
54.949< @1 Bz AffEw fea wu § W
ST B7
(A) frm (B) arfarfrem
(C) JfergE (D) wfafer

55.9%d 4 e A1 9o A ®:
(A) feeet d (B)%Tfmm
(C) scrmeEE | (D) |

SG'W%?%T“ ? ™ SR Rt 3
(A) o (B) o
(C) fhfR=g= fafdr & (D) u~etl fafy &

57.9°0d9 <RTd & gifggr~e 9o d

s SRS
(A) 3 =ITIENET (B) 5 Tl
(C) 6 =arIeTeT (D) 7 =arEeT

58.9Rd ¥ 9 Swa ~Terg A waifdre
e § 03 7

(A) SAREIE STd IRl

(B) UwITq T4 RO STa e

(C) % Soa ~Tel

(D) T[aTEIC! Sd <RI

59. 9~d ¥ fafre fen wifE =< 2
(A) STITH <R g1
(B) Wi fafers uRwg g™
(C) Wi faferst wa g™
(D) fafr va < w=re™ grI

60 . Jvaifye W=y TuTRa A1 ¥
(A) IIFFIT R
(B) fawai wr
(C) G-I TR
(D) g9 W
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61.

The right of a party to initiate an action and
be heard before a court of law is called:

(A) Locus standi

(B) Personam

(C) Fundamental Right

(D) Private obligation

62.Right to property is:

63.

64.

65.

66.

67.

68.

69.

70.

(A) Fundamental Right

(B) Constitutional Right

(C) Directive Principle of State Policy
(D) Fundamental Duty

Who is the author of “You Must Know Your
Constitution”?

(A) Ram Jethmalani

(B) Subhash C.Kashyap

(C) Nani Palkhiwala

(D) Fali S. Nariman

Uniform Civil Code in India has been
implemented in the State of:

(A) Goa

(B) Uttarakhand

(C) Himachal Pradesh

(D) Goa and Uttarakhand

Food Security Act in India was implemented
in the year:

(A) 2006 (B) 2009

(C)2013 (D)2014

Indian Penal Code, 1860 will be replaced by:

(A) Bhartiya Nyay Sanhita

(B) Bhartiya Nagarik Suraksha Sanhita
(C) Bhartiya Sakshya Adhiniyam

(D) None of the above

Parliament is composed of:

(A) Prime Minister and President

(B) Prime Minister, Vice President and President
(C) Lok Sabha, Rajya Sabha and President

(D) President, Speaker and Prime Minister

The Minimum age for being a member of
Lok Sabha is:
(A)18
(©)25

(B) 21
(D) 35

The Preamble of Constitution of India is:
(A) apart of Constitution

(B) not a part of Constitution

(C) an annex of Constitution

(D) aschedule of the Constitution

Who is the final interpreter and guardian of
Indian Constitution?
(A) President

(C) Parliament

(B) Prime Minister
(D) Supreme Court

61.

wwﬁwﬁa@qﬁw@%ﬁﬂﬁ
el & AABR B T Bl AT B2

(A) NPa WS

(B)

fY
(C) BR
(D) WETI?H

62. AHRI &1 ATBR =B:

(B) Saenfee SrfdpR
(C) vroa f & e Rigra
(D) Hifers B

63.“You Must Know Your Constitution”® d@®

64.

65.

66.

67.

68.

7?7
(AR SISHeT N
(B) Y . HTIU
(C) 9N uTeTRearen
(D) WTell TH. ATRAA

YRA ¥ 99N ARIRe |@iear @ fa oy
# o) e T ¥?

(A)ar

(B) STRTETS

(C) femmarat wewn

(D) Tt iR FTREvS

A H @re gRen it few g @
gam om?
(A)2006
(C) 2013

Y gve digdr, 1860 @l fFrad Igd
fem smAM?

(A)ran

(B) STRIRAVS

(C) fewraet wewn

(D) a1 iR FIREvS

e e T 3

(A9

B) LT, SURTUf, 3R A
%c% BT, AT/ AR kil
(D) ey, TNAR IR YL |

AT P AT T B FATH 1Y
w1 Y

(B) 2009
(D) 2014

(A)18
(C) 25

(B) 21
(D) 35

69. MR Hfems & wRTa 2

70.

(A8 BT TP AT
(B) WfAer &1 e 9T 78
(C) Gfau™ &1 UH

(D) fagr= & T ST

WRA W™ &1 Sk =TT wd
WReE P B?
(A)Tcufe

(B) ©¥e
(C)ve=TH= 0

(D) Wai=a ~Imrmer™
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71. Right to life and personal liberty is

guaranteed to:

(A) Every person under the Constitution of India

(B) Every citizen under the Constitution of India

(C) Every adult citizen under the Constitution of
India

(D)Every minor citizen under the Constitution of
India

72. Concept of judicial review is .... of the
Constitution of India.
(A) temporary feature (B) basic feature

(C) weak feature (D) irregular feature
73. India is a Union of:

(A) Countries (B) States

(C) People (D) Institutions
74. Supreme Court of India propounded Basic

Feature doctrine in:

(A) Golaknath Case

(B) Kesavananda Bharati Case

(C) Maneka Gandhi Case

(D) Gopalan Case

75.Indian Parliament is based on the principle
of:
(A) Bicameralism
(B) Universal Adult Franchise
(C) Diarchy
(D) Federalism

76. Which of the following is not a Fundamental
Right?
(A) Right to Freedom
(B)Rightty Equality
(C) Right to Property
(D) Right to Constitutional Remedy

77. A judge of the Supreme Court retires at the
age of:
(A) 65 years
(C) 60 years

(B) 62 years
(D) 68 years

78. The main sources of law in India are
(A) The Constitution
(B) Statutes
(C) Customary Law
(D) Judicial Decisions of superior courts

79. Who holds the power of Judicial Review in
India?
(A) The President
(B) The Prime Minister
(C) The High Courts and Supreme Court
(D) The Parliament

80. In the absence of Chief Justice of India who
administers oath to the President of India?
(A) Vice-President of India
(B) Attorney General of India
(C) ChiefElection Commissioner
(D) Senior most Judge of Supreme Court

71504+ gmwhﬁ'rm AT BT AR
LCin| T E:
(AR \fag™ & T8d IdP Afdd DI
(B) WA g™ & d8d YD ARIRG Dl
(C):méhuaﬁ WfIg™ & 98d UAP JAH ARG

(D) IR A= & T8d YA SaaD
ARG B

72.g1f%% gAfdar & smaren TN
GIECIE A B

(A)SRARN S
(C) BHSIR SUNEI

73.9Rd U WY -
(A)STN B

B) HeIqd wUNEl
((D))aﬁtrffram

(B) Xrsdi 1
(C) < @ (D) \ei &l

74. 9IRGB qaied <A™ | qAya faersan
g @t fw a9 4 uwga foar oan?

75. 9 99 faw g @ sngfRa g7

(AfgeT
(B) \rd¥ifie qav fHataefeer
(C) gemafaar

(D) wE

76.13?@%13 q4 q P9-41 difes dfterR
(ARG BT PR

(C) |¥uf &1 SfePR
(D) Haenf~d SUAR B AferbR

77. STadH NETAT B TR Aarg

(A)65 o &) Y W

B) 62 a9 &I LEEy
(C) 60 a9 I Y W () i

(D) 68 T4 I MY W

78.9~a H faf¥ =1 v 9@ %
(A)faET
(B) wfaferat
(C) vrra fafar
(D) I ~amaTeral & e fHog

79.;1;aﬁmmwmaﬁwhﬂﬁﬁum
ARTETRI
EB;UW

(C) Swa ITaTer™ U4 Waid ~rTerd
(D) \9g

80. Y& =T & Ul d wRa @
AUl B B 9 e 27?
(A)Su—reeyfe
(B) 3T SR
(C) &4 a3y
(D) giH B &1 aRssad =aradre
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(Choose Hindi Or English 81-100) Hindi Language

(Choose either English or Hindi Language)
81 fr=fafaa § | 9 w1 ad= g ®7

(A)ea (B) @™
(C) SRu (D) 3reifof
82 FRA T F?
(A) AT (B) gfeer
(C)SHafer (D) 3714 9 B &l
83 S v @l e ¥7?
(A) 3raeEe (B) @@
O famvra (D) Frg
84 MY BT Tgd IS T B?
(A)gert (B) g4T1
(C) ¥\ ga™ (D) Rz
85.31eage ¥ B W |fy 2?7
(A) ST wfyg (B) gfg wf
(C)qu1 |fva (D) ot |fee
86."% H T PR A" YR P 37 Tl
(A)9gd U= B (B) 9 IRRTH AT
(C) ot em=a &A1 (D) fRee1 B

87.99 TTE 1 GI DT Wl IAYE AN?
(A)g" ¥ =1 S T
(B) T UgA ol FALAT BN
(C)Nra1 |a AsSaH T
(D) 91 &1 el STARVT T4

88 BT @ fhaq 9T (UBR) B?
(A)6 (B)S
©)4 (D)3

89. @19 Wl ¥IsT Wl ¥ T gon Rwwwn @
??

(A) et (B) yf¥ret
(C)<iife® (D) mAafi®

90 . IHTE BT YTIIAR] ITsS BIF AT T8l &7
(A) 3T (B) Sire1
(C)sw (D) e

91."%TIS BT Soc]” Jerar & nef &?

(A) Torar (B)qd

(C)feita (D) Iraferd AR
92 "gifa yu1* A9 I1s & 9gigarEn &7

(A)HHd (B)fdama

(C)fFam (D) fdhon

93."3MR S HeTax &1 i 3?7
(A) IR SR
(B)agd ST_T arel
(C)ga Ffea &1 &=

(D) e H 3MTH HOR ITeq HEl

94 gt wrw1 <l frw wra Y @ E?

(A)Rfrarar (B)¥fd w1el
(C)3nfg &1 (D)snigfHies Bret
95 IMAERT A &1 HT9T T 87
(A)3rah (B)HIeTg
(C)ured (D)srotHmeT

96919 B e orf @ sar 7

(A)¥&T (B)ffR
(O)fawr= (D)faesg
97 &R a1 Snewt fvw wfa @1 B ¥?
(A)aftie (B)Yger
(C)fore (D)S4 ¥ Blg Tl
98.YRd & WY YR &, ¥ DIF Al AiPR &7
(A)THP (B3
(C)wU®d (D)Te

9941y 3R gHwief’ @& AE® B?
(A) o= FAR (B)3r=
(C) R I=aTs (D)®EA BT

10039 =g, Ig-BfA B WeIan §7
(A) ST T AT
(B)¥Ia=g ERea=<
(C) HIeTreTRul @
(D)SIIRTHR YIS

(CET-2025(LL.B)P11-9)




(Choose Hindi Or English 81-100) Hindi Language

( Choose either English or Hindi Language )
Q No.81-85 Fill in the blanks
Pick out the most effective word from the
given words to fill in the blank to make the
sentence meaningfully complete.

81. In the modern world, the..... of change and
scientific innovation is unusually rapid.
(A) requirement (B) fantasy
(C) pace (D)comtext

82. The unprecedented economic growth of
China has... worldwide attention.
(A) attracted (B) proposed
(C) perceived (D)astonished

83. Each business activity ... employment to
people who would otherwise be unemployed.
(A) Taking (B) finds
(C) creates (D)provides

84. Economic development and education have
.... Women more assertive.
(A) made (B) prepared
(C) marked (D)resulted

85. The government is planning to set.... family
welfare centers for slums in cities.
(A) another (B) with
(C) for (D)up

Q No.86-88 Read each sentence carefully to
find grammatical error in it. If there is any
error, it will be only in one part of the
sentence.

86. I shall /ring him/tomorrow/in the afternoon
(A)Ishall (B) Ringhim

(C) tomorrow (D)in the afternoon

87. I never have/visited/or intend to visit/

foreign countries
(A) Inever have (B) visited
(C) or intend to visit (D)foreign countries

88. John’s salary/is much/larger than/tom
(A) John’s salary (B) ismuch
(C) larger than (D)tom

Q No0.89-92 Choose the word/phrases which is
most similar in meaning to the word/phrases
from the following options in each questions.

89. Prognosis
(A) Scheme
(C) Preface

(B) Forecast
(D)Identification

90. Contract

(A) Tract (B) Expand
(C) Give (D)Abridge
91. Docile
(A) Vague (B) Gentle
(C) Stupid (D)Stubborn
92. Erotic
(A) Wandering (B) Given to mistakes
(C) Difficult (D)Amorous

Q No0.93-95 Choose the word which is
opposite in meaning of the words given in each
question.

93. Accepted

(A) Followed (B) Noted

(C) Provided (D)Rejected
94.Loved

(A) Refused (B) Defamed

(C) Hated (D)Averted
95.Wealthy

(A) Poor (B) Famous

(C) Wicked (D)1l

Q. No. 96-97 Choose the exact meaning of
Idiomatic expressions/ phrases.
96. To see red

(A) To find fault with (B) To be very angry

(C) Tocriticize others (D) To victimize someone
97. To look blue

(A) To be annoyed (B) To look sad

(C) To feel happy (D) To look sick

Q. No. 98 One Word Substitution
98. Matter written by hand.

(A) Handwritten

(C) Amnesty

(B) Manuscript
(D) Proof

99. Who is the writer of “The Ant And The
Grasshopper”
(A) William Somerset Mauugham
(B) Brooker T. Washington
(C) Robert Lynd
(D) William C. Douglas

100.Who is the writer of “O Captain! My captain!”
(A) William Shakespeare (B) Walt Whitman
(C) Thomas Carew (D) John Milton's
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